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Aufgabe 5
a) V8 =2,weil3® =8

b) /125 =5, weil 5° = 125

c) V81 =3, weil 3* = 81

d) v/10.000 = 10, weil 10* = 10.000

e) v/32 =2, weil 2° =32

f) /1024 = 4, weil 45 = 1024

g) /1024 = 32, weil 322 = 1024

h) v/216 = 6, weil 6° = 216

i) 1/0,01 = 0,1, weil 0,12 = 0,01

j) v/0,001 = 0,1, weil 0,13 = 0,001

k) +/0,027 = 0,3, weil 0,3% = 0,027

) V64 =4, weil 43 = 64
Aufgabe 6

a) 162 = /16 = 4, weil 42 = 16

b) 6257 = /625 = 25, weil 252 = 625

¢) 6251 = /625 = 5, weil 5* = 625
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d) 10005 = /1000 = 10, weil 10> = 1000
e) 275=V27 — 3 weil 33 = 27
f) 325 = /32 = 2, weil 25 = 32
Aufgabe 7
a) 495 =42 = /4 =2, weil 22 = 4
b) 3202 = 3210 = 325 = /32 = 2, weil 25 = 32
¢) 81025 — 811 = /81 = 3, weil 3* = 81
d) 2569125 — 2568 = ¥/256 = 2, weil 28 = 256
e) 625025 = 6251 = /625 = 5, weil 5¢ = 625

f) 102491 = 102470 = /1024 = 2, weil 210 = 1024



